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3-BEER H v (umol/g HE)=(C ArifExV2) x(A ME-A 75 F)+A FaifE-A T H)=(WxV1+V) xD

=4x(A M5E-A =5 H)HA brifE-A ZH) +WxD

3-TERRH M (ng/g HEHE)=(C AriExV2) x(A TE-A 7 H)+(A FrifE-A T H)HWxV1+V) xD

=864.16x(A ME-A 75 H)+(A faifE-A H) +WxD

2. A RE T
3-T R H I (nmol/10% cell)=(C FRifExV2) x(A MIZE-A T H)+(A FrifE-A 2 H)+(500xV1+V) xD

=4x(A MI5E-A 2 H)+HA FrifE-A 25 H) +500xD
3-TATR H M (ng/10% cell)=(C FRifExV2) x(A MIFE-A 7 H)+(A FrifE-A 2 H)+(500xV1+V) xD
=864.16x(A ME-A 2 FH)+(A FrfE-A 25 ) +500xD
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3-T R H i (mmol/L)=(C Fr#EXV2) x(A MIE-A = [)+(A FpifE-A £ H)+VIxD
=4x(A ME-A 25 [)+(A FrifE-A 25 1) xD

3-T R H i (ng/mL)=(C ARiExV2) (A ME-A 75 F)~(A frifE-A 75 )+ V1D

=864.16%(A MIE-A 7 H)+A trifE-A 25 H) xD

C FpifE---4mmol/L=4pumol/mL=864.16pg/mL; V---$EBRARFRY, 1mL;

VI FEAIIAAERL, 0.03mL; V2---bRiE A IR, 0.03mL;
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